Aim: How did certain groups tried to improve lives in the late 1800s?
Do Now
Read pages 459-461.

Turn in your homework.

Look at HW Board for assignment.
2. The Struggle for Control
· In the late 1800s, life was improving for many Americans.

· For those people who were not improving, certain groups worked together to improve the standard of living for many people in the United States.

· Certain groups demanded more government control over the regulation of big business.

· One group of Americans, the farmers, were instrumental in making noticeable changes.

2.1 The Interstate Commerce Act
· The Interstate Commerce Act was passed in 1887.

· This act marked the start of the United States Government regulating big business.

· This act was a result of the farmers failing to negotiate state regulations in big business, so they looked to the national government to fix things.

· The Interstate Commerce Act stopped railroads from forming pools, giving rebates or charging unfair rates.

· The Interstate Commerce Act also established the Interstate Commerce Commission, which would be the first regulatory commission to oversee the railroads.

· The act was not a successful act because it failed to spell out what a fair rate was, it failed to give any power to the ICC. In fact, the act gave power to the courts to regulate the law and in many cases, the courts sided with the railroads.

· What act was passed in 1887?

· What was the first regulatory agency in the United States?

· What does the word regulatory agency mean?

· Why was the Interstate Commerce Act a failure?

2.2 The Sherman Anti-Trust Act
· In 1890, the United States Congress passed the Sherman Anti-Trust Act.

· This act was enacted to stop big business from allowing monopolies and trusts.

· The law stated that any combination or contract made to limit trade was against the law.

· The Sherman Anti-Trust Act was weak because it did not spell out what restraint of trade meant. It made it very hard to see if big business broke the law.

5) What was the purpose of the Sherman Anti-Trust Act?

6) Why was the Sherman Anti-Trust Act not successful?

2.3 The Election of 1896
· The big issue in the Election of 1896 was the struggle to control big business.

· A major issue of the campaign concerned money.

· Since 1873, the United States had been on the gold standard. Gold was scarce and it hurt farmers who had none. 

· Farmers wanted money to be backed by both silver and gold. People criticized this because when money is backed by both metals would cause inflation to occur.

· Farmers wanted this to occur because it would allow them to pay off their debts. The farmers were backed by representatives in Congress and silver miners while those who favored the gold standard believed that if two metals backed paper money, the value of the dollar would decrease and the economy would suffer.

· In July 1896, the Democratic Party who favored backing silver held their nominating convention.

· The most important figure at the speech was William Jennings Bryan who delivered his “Cross of Gold” speech.

The Cross of Gold Speech

        “You come to us and tell is that the great cities are in favor of the gold standard; we reply that the great cities rest upon our broad and fertile prairies. Burn down your cities and leave your farms and your cities will spring up again as if by magic, but destroy our farms and the grass will grow in every city in the country….



Having behind us the producing masses of this nation    and the world, supported by the commercial interests, the laboring interests and the toilers everywhere, we will answer their demand for a gold standard by saying: You shall not press down upon the brow of labor this crown of thorns, you shall not crucify mankind upon a cross of gold.”


· Following his “Cross of Gold” speech, the Democratic Party nominated Bryan to run for President. They also agreed to back the farmers demand to have paper money backed by gold and silver.

· The choice of Bryan, as well as the Democratic platform, was a problem for the Populist Party because the Democrats took over the Populist platform.

· The Populists would choose Bryan because they believed he had the best shot of winning the election.

· The Republicans chose William McKinley for President, backed the gold standard and a new protective tariff.

· In the Election of 1896, McKinley received 271 electoral votes to Bryan’s 176 and became the President.

· During the administration of McKinley, the economy improved due to European crop failures. New gold found in Alaska also helped increase the money supply without mining silver. These two changes ended the Populist Party.

7) What were the big issues surrounding the Election of 1896?

8) William Jennings Bryan was the nominee of which party?

9) Which party adopted the platform of the Populist Party?

10) Who won the Election of 1896? 

11) What events led to the end of the Populist Party?
Review Questions

· What was the significance of the Interstate Commerce Act?

· What group of Americans wanted to put more money into circulation?

· Why was the choice of William Jennings Bryan a difficult choice for the Populists?

